MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.goy

Acurlite Structural Skylights, Inc.
1017 North Vine Street, P. O. Box 5
Berwick, PA 18603

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 9/16” Laminated Glass and Aluminum Extrusions Skylight System

APPROVAL DOCUMENT: Drawing No. SMNOA-001, titled “ Secure Series Small Missile ” sheets 1 through
14 of 14, dated February 04, 2010, last revision #2 dated 06/10/19, prepared by Acurlite, signed and sealed by
Robert J. McCloy, P.E., on 06/17/19, bearing the Miami-Dade County Product Control Revision stamp with the
Notice of Acceptance number and the expiration date by the Miami-Dade County Product Control Division.
MISSILE IMPACT RATING:  Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, City, State, and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA Revises and renews NOA #22-1011.08 and consists of this page 1, evidence submitted pages E-1 and
E-2 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.

//‘? ,4 /M/ NOA No. 24-0808.01
MIAMI-DADE COUNTY

Expiration Date: 08/15/2029
(APPROVED |
LEOVER o 5/ 2 'Z/ 24 Approval Date: 08/22/2024

Page 1



Acurlite Structural Skylights, Inc.

[,

[ 8]

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENS SUBMITTED UNDER PREVIOUS APPROVAL # 10-0607.01

DRAWINGS

1. Drawing No. SMNOA-001, titled “ Secure Series Small Missile ” sheets 1 through
14 of 14, dated February 04, 2010, prepared by Acurlite, signed and sealed by
Robert J. McCloy, P.E., on February 08, 2010.

TESTS

1. Test report on Small Missile Impact Test and Cyclic Load Test on Acurlite
Structural Skylights, prepared by HTL, Report No. 0541-0418-09, dated 12/14/09,
signed and sealed by Vinu J. Abraham, P.E.

2. Test report on Uniform Static air Pressure Test on Acurlite Structural Skylights,
prepared by HTL, Report No. 0541-0418-09, dated 12/14/09, signed and sealed
by Vinu J. Abraham, P.E.

3. Corner joint pull-test, prepared by HTL, Report No. 0541-0910-09, dated
11/05/09, signed and sealed by Vinu J. Abraham, P.E.

CALCULATIONS
1. Calculation titled *“ Skylight Structural Calculations ”, pages 1 through 359 of
359, dated 01/22/10, signed and sealed by Robert J. McCloy, P.E.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance office.

MATERIAL CERTIFICATIONS
i Die Drawings for Extrusion Members.

EVIDENS SUBMITTED UNDER PREVIOUS APPROVAL # 19-0717.01

DRAWINGS

1. Drawing No. SMNOA-001, titled *“ Secure Series Small Missile ” sheets 1 through
14 of 14, dated February 04, 2010, last revision #2 dated 06/10/19, prepared by
Acurlite, signed and sealed by Robert J. McCloy, P.E., on 06/17/19.

TESTS
1. None.

CALCULATIONS
1. None.

QUALITY ASSURANCE
1. By Miami-Dade County Department of Regulatory and Economic Resources.

MATERIAL CERTIFICATIONS
1. Die Drawings for Extrusion Members.

Y

?ﬁélmy’ A. MaKar, P.E., M.S.
Product Control Section Supervisor
NOA No. 24-0808.01

Expiration Date: 08/15/2029
Approval Date: 08/22/2024



Acurlite Structural Skylights, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

F. STATEMENTS
1. FBC, 2017 Edition Compliance letter issued by Robert J. McCloy, P.E., on
06/17/19, signed and sealed by Robert J. McCloy, P.E.

3. EVIDENS SUBMITTED UNDER PREVIOUS APPROVAL # 22-1011.08
A. DRAWINGS

1. None.
B. TESTS

L. None.
C. CALCULATIONS

I None.
D. QUALITY ASSURANCE

1. By Miami-Dade County Department of Regulatory and Economic Resources.
E. MATERIAL CERTIFICATIONS

1. Die Drawings for Extrusion Members.

F. STATEMENTS
1. FBC, 2020 Edition Compliance letter issued by Engineered Glazing Systems on
09/28/2021 signed and sealed by Robert J. McCloy, P.E.

4. NEW EVIDENS SUBMITTED
A. DRAWINGS

1. None.
B. TESTS

1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
i By Miami-Dade County Department of Regulatory and Economic Resources.

E. MATERIAL CERTIFICATIONS
1. Die Drawings for Extrusion Members.

F. STATEMENTS
1. FBC, 2023 Edition Compliance letter issued by Engineered Glazing Systems on
07/01/2024 signed and sealed by Robert J. McCloy, P.E.

Y o] St

Hélmy A. Makar, P.E., M.S.
Product Control Section Supervisor
NOA No. 24-0808.01

Expiration Date: 08/15/2029
Approval Date: 08/22/2024



Notes SMALL MISSILE

1. The skylight system indicated on these shop drawings has been verified for compliance in
accordance with the 2017 Florida Building Code. Maximum design pressure +120psf and
-100psf.

2, The skylight system may be installed in High Velocity Hurricane Zone.

3. These shop drawings are generic and do not provide information for site specific projects.

4. Structural adequacy of the supporting structure is not part of this product approval. Design of
the supporting structure is the responsibility of the engineer of record for the project.

5. Design of the supporting structure shall take into account the loads being transferred from the
skylight system (reactions) to the supporting structure.

6. The skylight system indicated on these shop drawings tested for small missile impact in
accordance with TAS 201/202/203.

7. See sheet 6 of 14 of these shop drawings for glazing options

8. Aluminum in contact with dissimilar materials shall be protected in accordance with the Florida
Building Code.

DOUBLE PITCH WITH HIP SEGMENTED BARRELL QUATER VAULT = SEGMENTED BARRELL HALF VAULT
WITH GABLE WITH GABLE

B

JN

POLYGON WITH JACK RAFTERS

POLYGON

STRAIGHT EAVE LEAN-TO
WITH GABLE

2 KM, £/10/18 JUPDATED TO 2017 BUILDING CODE

A KkM|4/28/18 JUPDATED TO 2014 BUILDING CODE

PEV. |BY: | DATE:

7

%a

7

§

ENGINERR

TAMP

Sty

£

s QE
S,
-'-(Nég
sulii i
== 198
=H i+
Q4L
(W ERE

e

o

%

N

©
ol
i e
w1
L =
o | |
SEZES
Uk o
nE=EO




e

14
2 DAYUGHT OPENING DAYLIGHT OPENING s
L SEE CROSS SECTION CS—1 SEE CROSS SECTION CS—1 N g
2 . = AP z
¢l.u
5 \ZJ 35
3 =
s GLASS SIZE: CG—1 GLASS SIZE: CG—1 5
g GLASS TYPE: A GLASS TYPE: C 3
-
3 L2 P
P 7/
] DAYLIGHT OPENING DAYLIGHT OPENING
A SEE CROSS SECTION CS—2 ’ SEE CROSS SECTION CS—2 A
2 =
- > | £
Jy 2 < la_) “.
N N5 S
" GLASS SIZE: €62 GLASS SIZE: CG-2 - "
‘?3 GLASS TYPE: B GLASS TYPE: C T% Vi
< £ <
2 7 =
= o
: P
Im N | | I 4
= k’/l NE & o 2
< -3 =
.
Xy N2/ '{§
"o GLASS SIZE: €G-3 GLASS SIZE: CG-3 GLASS SIZE: CG-3 GLASS SIZE: €G-3 ~0
© GLASS TYPE: B GLASS TYPE: B GLASS TYPE: C GLASS TYPE: C T%
£ ¥
Yo DAYLIGHT OPENING DAYLIGHT OPENING DAYLIGHT OPENING DAYLIGHT OPENING 5
B | SEE CROSS SECTION —-|— SEE CROSS SECTION —| || }~— SEE CROSS SECTION —| |— SEE CROSS SECTION — =
3 cs-3 cs-3 cs-3 cs-3
e u—— I By ey \‘\ sy
PLAN VIEW \SEAL INTERSECTION OF ALL PRESSURE CAPS

CRQSS SECTION CS-1

SCALE : 3/8" = 1'-0"

OUT TO OUT OF CURB

15'-4 1/2" '
15'-8 9/16”

QUT TO OUT OF FLASHING

FACE OF WALL TO OUT OF COVER CAP

CROSS SECTION CS-2

SCALE : 3/8" = 10"

OUT TO OUT OF CURB
15'-8 9/16"

18'=4 1/2" i l

12
52262

SCALE : 3/8" = 10

AND COVER CAPS. USE DOW CORNING 795

2"-11"
[ DAYLIGHT —
OPENING

GLASS SIZE: CG—4

GLASS SIZE: CG-5

2'-11"
= DAYLIGHT ——
OPENING

GLASS TYPE: A GLASS TYPE: C
wioy
> & - '
7'—0 1/32" 11 7’0 1/32
AYLIGHT OPENING e DAYLIGHT OPENI
15°-8 9/16"

OUT TO OUT OF FLASHING

GABLE VIEW

SCALE : 3/8° = V'-0°

\ A'd

OUT TO QUT OF FLASHING

2

CRQSS SECTION C5-3

SCALE : 3/8" = 1'-0"

15'-4 1/27

OUT TO OUT OF CURB NN l ~
15'-8 9/16" ¥y}

YEIS ]

» Plorida

H. ol
% /],(/)zaz_q

: 1

ode
o 1% o o] .‘v\)
¥ I

3/8X3X3X4LONG
INTERMEDIATE PURLIN SUPPORT ANGLE
ATTACH TO CURB USING 1/2—13 HEX HD TAP BOLT

DRILL AND TAP INTO STEEL

ATTACH TO PURLIN USING (4) #12 X 1 H.W.H. TEK SCREWS
QUANTITY, SIZE AND REQUIRMENT OF SUCH BASED ON
SIZE AND GEOMTRY OF SKYLIGHT

(NOT PART OF PRODUCT APPROVAL)

NOTES:

1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES.

OUT TO OUT OF FLASHING

/10/18 UPDATED TO 2017 BUILDING CODE
.| 4/28/18 JUPDATED TO 2014 BUILDING CODE
DATE:

2 knls
A ko

acurlite

ing light
Aceriity Struceurs] SkyBghes Tnc,

engineering

1017 Noeth Vine ftrest, PO Bex 3

Berwick, PA 18603

© Tormse ® Torness:  sales@acurlite.com m:vn

2/4/10

©

DADE COUNTY USE

SMALL MISSILE ~

PLANS AND ELEVATIONS




KM. 8/10/18 UPDATED TO 2017 BUILDING CODE

A KM|4/28/18 LPDATED TO 2014 BUILDING CODE

REV. (BY: | DATE:

14'-1 1/4"

OUT TO OUT OF FLASHING

TEST SPECIMEN ELEVATION

SCALE : 3/4" = 1"-0"

NOTES:
1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES.

I | | l>l-< |
| )
__ — @ i @ ] ©
u M1 Il

— Il I
- ;. Il —1 I | u
| - | - | T -
i - | -
I /- (- -
/- o m
o (/- oo oM
. [ [ 1 .
| =6 il e | RS

| ok GLASS SIZE: CG-3 ( | s
3 GLASS TYPE: B | A — 1 L Ssmim
Py | - | =1 T
2 A — | - s
- - o
2 [ - o e | M
% P Cadl gl sl

ol . Z =|= n:: Bubl | Oy, = | VL
U 52 SR O Ik AR N I 8 eSSy f ReSEffp o Rslflw
&8 2g SR ESSS S 73 Fosgfin 4 IesEdim o Ior - !
2 s | 2T E W oo 0 Co Mo
& g3 B w2 S 0 3| Ma
- o o
(/- o o
o |- - S
. = GLASS SIZE: CG-3 | | - CEm
| L5 GLASS THPE: & | M- o 3 .
9k - - 3 .
H - - [ ] [T
3 |- (- st
- | - | -
{ N - i | -
(/- - | (-
@) /- - e
| [ i u Wi
. ol | 9 \‘i\ 2
I e S
I ™~ =
SR 4—4 1/47 4-41/4" meﬂ‘t Yoo sc;ucfﬂs- 1-¢§QMC§/46. o
AYI;!.Bl_-iGT ;);ENING DAY%GH;’ SOPENING DAYU.GHT OPE.NING i

C.L. TO CL. OF RAFTER C.L. TO E.L. O(F‘RAF[ER cL 7045.5 Z:J/l:4RAFIER D ADE COUNTY USE E&WAMP

0m |
%""‘}"tg
@v)‘
b ) mé
S5,
n'—lNgg
—-—I”E
Sy i gg
=i
O Sﬁg
by
=43 H;
e
N
~
©
v
il
O
}_.
| |5
' in
ErA R Rl
Zlal A
w
HEE:
e | =
e
:’:.f'
:Vv:'. g D




3

N\

(]
=
N
Il 8
~
o GLASS SIZE: CG-3
15 GLASS TYPE: A
"5
(
[a]
(4]
l =z
g ' %
= © 4 é
25 = e %)
Pars) TS GLASS SIZE: CG-1 l 75\ '{ﬁ GLASS SIZE: CG-2 N
e GLASS TYPE: B £ ~ GLASS TYPE: B _t = — — Ve
W wx ' \QJ O (ol
48 cx e e 1o
@ Jo @ o
< f*# -
[=] i <« e |y
; Qa 3
o
=z
. =z GLASS SIZE: CG-3
| oy GLASS TYPE: A
Q
r\
-
i
-
<
o
P
|
|
|
=] - ] ==
4-41/4" 44 1/4" 4'—4 1/4"
DAYLIGHT OPENING DAYLIGHT OPENING DAYLIGHT OPENING
4'-6 3/4" 46 3/4” 4'—6 3/4"
CL TO CL OF RAFTER C.L TO C.L OF RAFTER CL. TO C.L. OF RAFJER
14—1 1/4"

TEST SPECIMEN ELEVATION

OUT TO OUT OF FLASHING

SCALE : 3/4" = 1'-0"

NOTES:

g'—0 27/32"
OUT TO OUT OF FRAME

g'-1 1/16"
DAYUGHT OPENING

9'-0 27/32"
OUT TO OUT OF FRAME

7-10 1/4"
DAYLIGHT OPENING

|
Il
i
1l
Ll
1]
1l
fl
1]
Ll

1

I
ll
i
il
Il
Il
Il
il
ll
I
Il
Il
I
Il
fl
fl
Il
i
Il
Il

3'-9 7/8"
DAYLIGHT OPENING

9'-0 27/32"
OUT TO OUT OF FRAME

3-9 7/8"
DAYLIGHT OPENING

i
Il
Il
Il
Il
Ll
Ll
Ll
[l
il

it 1l

1l
Ll
L]

[l
Il

1
1]
Ll

L

L
Ll
Ll
Ll
l
il

L

4/28/16 JJPDATED TD 2014 BUILDING CODE

DATE:

2\ fo]8/10/18 JUPDATED TO 2017 BULDING CODE

A k.

5

x"ﬁ%&z

7

acurlite
@ Tormcen @ otz sales@acurlite.com [

engineering light
Aceriits Screctural Skylights Inc,
1017 Noeth Vine Sereet. PO Boz 3

Berwick, PA 10603

2/4/10

©

CS-4

SCALE : 3/4" = 1'-0"

ADE COUNTY USE

Flor:
Florida

2—‘( Oiof 9(

MM%W !

1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES.

PLANS AND ELEVATIONS

ASMALL MISSILE




) <> l ] ) (= ] | |
: |
© @] ©
n T
— u : ||
- | i 4 T u | ¥ E
fin o | [ Bs
|| - (- o I
| (- | (- o £3
o || o RIR
. (- (- ol 5le
o m (- S HE
| &8 o | - it o3|
75 Cothss T A - (- 1 . 2185
| .- | L [/ =1 . EEE
A | - i sHlm i
mo o o :
| e | Ml e Mlwoon e | }%%
2 s ® ERR1 Ty [ N Boaadn
Wb o % _ NG ESubE M 0 S EW0 N 2w gl RS S
@ =0 RS TR S v || S RESeSS o BeSSMl el fln | Oxi: ¢
o8 A B [ === e EEESES S ] [T R ECHY [T T o I R T
S | '\g | E = 3 I I Si\g Il I & I L | :.: ;ogg é
& s 3 W o 32 Wm0 3| Mmoo 1 ok E 135
| (- | - o 8 iE
o (- moo ) g
8
. (- | (- N - « ~i«fe
. % GLASS SIZE: CG—3 i 111 I Il [ . % (M I .
e GLASS TYPE: B oo o ;Y [T g
ok (- i x| S
= o1 o =1 (.
3 (- 1 s =
w oo | -
| | - (- 1
m | - | L
@ - | AL Wi
B | b I ] 1 e -
Lk il il 5 ‘ 2
I : i b
: <
4'~4 1/4" B B ] o - - . = % Ll 5
DAYI;I‘Gi_-ig f;ﬁmnc DAYJ'C;G' 1(J/P‘*::_Nlms DAYJ.G—H‘? 1o/;:;:_ums SRR ol T a g
C.L TO CL OF RAFTER cL T04(—2.E. 30/F4RAFTER cL 7045.?, %/I:RAFTER DADE COUNTY USE 21 =
141 1/4" = | <
OUT TO OUT OF FLASHING il 2
TEST SPECIMEN ELEVATION - LIES
SCAI.ES/4'-1'-0' "&::t:.';/"h:i;l“’dilvri;.... ': W ' o
pecepiinee Mol 4 - 0% 00| A

Expingion Duté QY7157 20 2%
Yy

NOTES:
1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES.




CG—4

31 1/4'——]

7'-5 3/8" |

SIZE
CG—1 24 x 99
CG=2 94 x 96
CG—3]54 x 49 5/8
CG—4 | SEE PATTERN
CG—-5| SEE PATTERN

/28/18 NPDATED TO 2014 BUILDING CODE

DATE:

2 KM, 8/10/18 JUPDATED TO 2017 BUILDING CODE

ENTID

@ SR80 B Srormesss  sales@acurlite.com ooy

2
CG—5 %"’s“f‘g%‘

fo— 3'=1 1/4" —I

7'-5 3/8"

acurlite
engineering light
Acariity Strucenral Skylights Jac,
1017 North Vies Street, PO Bexr 8

Barwick, PA 18603

1/4° TEMPERED GLASS 1/4” TEMPERED GLASS 1/4" TEMPERED GLASS
<
T l ]
.035 DUPONT SENTRYGLAS PLUS INTERLAYER %  .060 Solutia Saflex PVB INTERLAYER o .090 DUPONT SENTRYGLAS PLUS INTERLAYER | © ©
(NOA # 07-1116.04) | = (NOA # 03-0827-08) — | 5 (NOA # 07-1116.04) S
| | l
1/4” TEMPERED cuss/ 1/4" TEMPERED cuss/ 1/4” TEMPERED GLASS/
GLASS TYPE A GLASS TYPE B GLASS TYPE C Yo\
APPROVED FOR SMALL MISSILE IMPACT APPROVED FOR SMALL MISSILE IMPACT APPROVED FOR SMALL MISSILE [MPACT L
(ALSO APPROVED FOR LARGE MISSIREAMPACT) |
(UNDER SEPARATE NOATN '~ ]
N 0l
DADE COUNTY USE yd =
. ezl
i L ) D 18
S complying with th Florid - OEZE

Lrg?_l_?—'b"ll'_?-ol

ation Date 0§ ZZ§ )’L&'L'Zf

uct Lonirof

'NoZ
Expiration Date ‘Wn B
. /4 £

NOTES:
1. SEE SHEET 2,3,4 AND 5 OF 12 FOR LOCATIONS OF GIASS SIZES AND
TYPES.




CONT. EPDM GASKET

CONT. STRUCTURAL SEAL
USE DOW CORNING 995

1/4 x 1/2 SETTING BLOCK
(2) PER BAY 4 LONG LOCATED © 1/4 POINTS

3/16 ALUMINUM GLASS REST
(2) PER BAY 4 LONG LOCATED © 1/4 POINTS

CONT. SEALANT
USE DOW CORNING 795 SILICONE

1/8 x 1/4 ALUMINUM POP RIVET
LOCATED @ 4" O.C.
ATTACH CLOSURE FLASHING TO ANGLE SPACER

$38970 EXTRUDED ALUMINUM
STRUCTURAL SEAL FLANGE

ATTACHED TO PURLIN USING

1/4-20 x 3/4 FLAT HD SCREW TYPE “F"
LOCATED @ 6" O.C.

.040 FORMED ALUMINUM ANGLE SPACER e

#12 x 1 HWH. TEK SCREW-/
LOCATED @ 12° O.C.
ATTACH ANGLE SPACER TO PURLIN

#14 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER ——
(2) PER END (4) PER PURLIN

HOBB57 EXTRUDED ALUMINUM PURLIN

5/8-11 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER
AND FLAT WASHERS BOTH SIDES

ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER
4 1/2" LONG AT INTERIOR RAFTERS
1 1/2° AT EACH CORNER

.040 FORMED ALUMINUM CLOSURE FLASHING —

3/8 x4 x 4 %6 9/18 LONG
STRUCTURAL ALUMINUM ANGLE

3/8-16 X 3 1/2 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER

125 FORMED STEEL PRESSURE CAP
ATTACH TO ALUMINUM PRESSURE CAP
WITH 1/4-20 X 5/8 H.WH. TYPE "F"

LOCATED © 6" 0.C.

ISOLATION MEMBRANE

(2) PER INTERIOR RAFTER

(1) AT EACH CORNER

1/2-13 x 2 GRADE 5 HEX HD. TAP BOLT
WITH FLAT AND LOCKWASHER

DRILL AND TAP INTO STEEL
ATTACH STRUCTURAL ALUMINUM ANGLE TO STEEL

'SEAL IN AND AROUND LUG AND FASTENER

USE DOW CORNING 795 SILICONE

2 11/32" 2]

.040 FORMED ALUMINUM SILL PLATE

#10 x 1/2 S/S PAN HD. SM.S.
LOCATED © 12° 0.C.
ATTACH CLOSURE FLASHING TO SILL PLATE

3/16 x 1/2 FOAM TAPE
ALLOW 3/4" INTERRUPT © EACH RAFTER C.L.

STEEL TUBE
(NOT PART OF PRODUCT APPROVAL)

SEE DETAIL 16 ON SHEET 11 FOR
CONCRETE CONNECTION DETAIL

M
RN

y

L L

E } SILL
DETAIL

N
1.

1/4-20 X 2 H.W.H. SCREW TYPE "F"
LOCATED @ 6" O..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

/-.040 FORMED ALUMINUM COVER CAP
.125 FORMED ALUMINUM PRESSURE C

CONT. SILICONE SEALANT
USE DOW CORNING 795

AND FLAT WASHERS BOTH SIDES
ATTACH INTERNAL LUG TO RAFTER

)/ - EXTRUDED OR FORMED COMPRESSION RING
USED FOR DIFFERENT CONFIGURATIONS

1/4—20 % 1 FLAT HD SCREW
ATTACH RAFTER TO INTERNAL LUG

700985 EXTRUDED ALUMINUM INTERNAL LUG

/10/18 JUPDATED YO 2017 BULDING CODE
.| 4/28/18 JJPDATED TO 2014 BUILDING CODE
DATE:

TES:
SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES.

‘TERNAL LU@TO RAFTER §

72,0004 O\
/, \
D™

33z
<i<|E
£
s, |
%iﬁ Ea) %
DADE COUNTY USE | ertfimm$
By w 8
AP 8:’5‘0‘!!
<ie ¥
nv—iNgg
PROD "{_"'? z 2
S }ge
=B 1
, O 5
KRR E
®
o
=
~
~— CONT. EPDM GASKET
©
DADE COUNTY USE
— HOBB58 EXTRUDED ALUMINUM RAFTER
TOO985 EXTRUD
INTERNAL LUG
1/4-20 x 1 HD “c EW
ATTACH RAFTER'\.I,_; NAL' LUG
NS E
e Sl A
ENGNEERNSTAMP | | £
WS o7 w4
St S b=
N T R E S
/636 x 71/2. %Ew 5 LU :‘_,E, Fa)
WITH-FINISE NU R Py 24t :
AN T‘WAS 3 ES & & |5




12
.040 FORMED ALUMINUM CLOSURE FLASHING 5 |22'62°

#12 x 1 HWH. TEK SCREW
LOCATED @ 12" 0.C.—
ATTACH ANGLE SPACER TO PURLIN

.040 FORMED ALUMINUM ANGLE SPACER CONT. EPDM GASKET
1/8 x 1/4 ALUMINUM POP RIVET :
LOCATED @ 12" O.C. CONT. STRUCTURAL SEAL
ATTACH CLOSURE FLASHING TO ANGLE SPACER USE DOW CORNING 995
1/4 x 1/2 SETTING BLOCK
CONT. SEALANT = dorks il ROTERT {2) PER BAY 4 LONG LOCATED @ 1/4 POINTS
s = |- _~ |~ |
USE DOW CORNING 795 SILICONE A SMALL MISSILE PRODUCT APPROVAL 3/16 ALUMINUM GLASS REST
C%NsTé 3&”%&%&@%& f\ (2) PER BAY 4 LONG LOCATED @ 1/4 POINTS

CONT. SEALANT
USE DOW CORNING 795 SILICONE

o s
$38970 EXTRUDED ALUMINUM =~ ~ —
STRUCTURAL SEAL FLAMGE -~
ATTAGHED TO PURLIN USING =

1/4-20 x 3/4 FLAT HD SCREW TYPE

LOCATED © 6”5,

DATE:

CONT, EPDM GASKET

A\

2 KJa]6,/10/18 JUPDATED TO 2017 BUILDING CODE
A\ KMJ4/28/16 UPDATED T0 2014 BUILDING CODE

$38970 EXTRUDED ALUMINUM
STRUCTURAL SEAL FLANGE

ATTACHED TO PURLIN USING

1/4-20 x 3/4 FLAT HD SCREW TYPE “F"
LOCATED @ 6" O.C.

CONT. EPDM GASKET

@5 @arseen  sales@acurlite.com [ “,

>
- O3 i}
#14 x 1 1/2 HWH. TEK SCREW T e =2 ot P
ATTACH PURLIN TO RAFTER - o vl
(2) PER END (4) PER PURLIN #1451 1/2 WAL, TEK SCREW™ . - '_-'H = Ei
ATTACH PURLIN TO RAFTER <= $ A
(2) PER END (4) PER PURDN -3 i
HO8857 EXTRUDED ALUMINUM PURLIN O% ;
« vl
HOB857 EXTRUDED ALUMINUM PURLIN
(=)
1/4 ALUMINUM GUSSET PLATE <
(2) PER RAFTER 3
5\ HORIZONTAL «
8 DETAIL ®
1/4-20 x 1 FLAT HD SCREW TYPE “F"
ATTACH RAFTER TO GUSSET PLATE
/2 RIDGE/KNEE Eﬁg : |
. vyl
<& DEIAL . N G =
e =2 |
DADE COUNTY USE ENGH@E:S]’A Py ﬁ =
'%1; w| = (3a
> : b 1 b <
oz} : D E
p /i - Y= ) K 5 Ll'—u
-
; ‘ & Wilh ihe rlorida Z,}”’ » \\ B B b D
nce Ne Z,‘{-d’.o €0 e Flozids $8s E0006R _ .

B 24 oy
Expirption Date 097 (¢ /20 2.9

NOTES:
1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES.




1/4—20 X 1 3/4 H.W.H. SCREW TYPE F
© 6" 0.C. 5
ATIACH PRESSURE CAP TO RAFTER 1/4-20 X 1 3/4 HWH. SCREW TYPE °F"
EMBED HD IN DOW CORNING 795 SILICONE LOCATED @ 6" 0..C.
508545 EXTRUDED ALUMINUM COVER CAP ATTACH PRFSSURE CAPNTNo RAFTER
/535501 EXTRUDED ALUMINUM PRESSURE CAP B2 AR B NN S LR Ear
C /ﬁ CONT. SILICONE SEALANT - 535591 EXTRUDED ALUMINUM PRESSURE CAP  .040 FORMED ALUMINUM CLOSURE FLASHING /Z
USE DOW CORNING 795
: e S O T 1/4-20 X 1 3/4 HWH. SCREW TYPE F"
. LOCATED © 6" 0.C. A
ATTACH PRESSURE C RAFTER
.040 FORMED ALUMINUM ANGLE SPACER EMBED HD IN DOW CORNING 795 SILICONE 8|8
@7 $08545 EXTRUDED ALUMINUM COVER CAP g ¢
HIax 10%1‘% TgKéC%Ec‘:v \_ T $35591 EXTRUDED ALUMINUM PRESSURE CAP 2z
N q . = CONT. SILICONE SEALANT \ ~le
ATIACH WNCLE SPAceR Tofb: 4 M WL — ; - CONT. EPDM GASKET USE DOW CORNING 795 / 88
[ - === ? = e o e e AEEEN =3 5]
.040 FORMED ALUMINUM CLOSURE FLASHING A i A\ M B / alp
- «£|
28
=1 =]
778" ER
= r4 ERE
[ 3
#2 x 1 HWH. TEK SCREW _/ 3[3
L, TEK S<iW  CONT. EPDM GASKET ; s
ATTACH ANGLE SPACER TO PURLN | <
#2 x VHWH EKSREW [ 1 N HOBB57 EXTRUDED ALUMINUM PURLIN 2
loCATED @ 12° 00—+ @ ' Ne=ZmZm e e oo i [ T e e e e e g;; 1,‘;%% )
ATTACH ANGLE SPACER TO PURLIN \ el | L IREEEETELT L e e e R E
HOB857 EXTRUDED ALUMINUM PURLIN X dC = R
040 FORMED ALUMINUM ANGLE SPACER——\ A — = ‘ <
x RiAN
#4 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER ATTACH PURLIN TO RAFTER =
(2) PER END (4) PER PURLIN )
LY

S08545 EXTRUDED ALUMINUM COVER CAP\
535591 EXTRUDED ALUMINUM PRESSURE CAP——\

1/4-20 X 1 3/4 H.W.H, SCREW TYPE °F
LOCATED © 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

TO09BS EXTRUDED ALUMINUM
INTERNAL LUG

|

[ |

(2) PER END (4) PER PURLIN | |
| |

l

ALEXELEATRY PO KT O
G

3

engineering

" : . Elistals
complying v the Flonda

1017 Neerh Viny Strose. PO Bex 5

Borwick, PA 18603

® Doy @ srorsessse  sales@acurlite.com o

Acuriita Structural Skylighes Inc,

vith 1/4-20 x 1 FLAT HD SCREW
o 297 05 0% .0 ATTACH RAFTER TO INTERNAL LUG

O¥7 5722 29{
1 virol

| s =\ RAFTER
1 9 DETAIL
/7 GABLE HEAD

9/ nDETAUD . L b evrennen Al TR —m e e
w DETA'Ls/a x3x3x21/210¢6 T PEiRARMRRRS AT e e, ] jla___j_.i
STRUCTURAL ALUMINUM ANGLE

(1) PER EACH SIDE OF GABLE POST

(2) PER CONNECTION SSET :
1/2-13 X 4 1/2 HEX HD. CAP SCREW o F"s%fof\%fs
WITH FINISH NUT, LOCKWASHER ‘

acurlite

||l
(.
(|
I
bl
I
I

|
|
AN NN AN

#2 x 1 HW.H. TEK SCREW 7 |

LOCATED @ 127 0.C.

ATTACH SLOPE PURLIN TO SLOPE RAFTER —
ALSO ATTACH VERTICAL GABLE POST
AT APEX USING (4) FASTENERS

3/8-16 X 3 1/2 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES
ATTACH INTERNAL LUG TO RAFIER

|

2/4/10

33
L]
Il
(I
I

I
(.
[

#2 X 1 HW.H. TEK SCREW

ATTACH PURLIN TO SLOPE RAFTERS AT ENDS
AND GABE POST AT CENTER

(3) AT EACH END AND (4) AT CENTER

CONT. SILICONE SEALANT
USE DOW CORNING 795

CONT. EPDM GASKET

~—— HO01071 EXTRUDED ALUMINUM TUBE

S08545 EXTRUDED ALUMINUM COVER CAP AND FLAT WASHERS BOTH SIDES #2 x 1 HWH. TEK SCREW s Blorida FOR CLALY
i ATTACH STRUCTURAL ALUMINUM LOCATED © 12" 0.C. i i
35591 EXTRUDED ALUMINUM PRESSURE CAP /ANGLE T0 GABLE POST ATTACH PURLIN TO TUBE 22-)01)- 08  crce oF EsTEUK s

1/2-13 x 2 HEX HD. TAP BOLT
WITH FLAT AND LOCKWASHER
DRILL AND TAP INTO STEEL
/ ATTACH STRUCTURAL ALUMINUM ANGLE TO STEEL
SEAL IN AND AROUND LUG AND FASTENER
USE DOW CORNING 795 SILICONE — CONT. EPDM GASKET
—| 7/8" 7/8°

1/4—20 X 1 3/4 HWH. SCREW TYPE "
LOCATED © 6" 0..C.
ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

#2 x 1 HW.H. TEK SCREW
LOCATED © 12" 0.C.
ATTACH ANGLE SPACER TO PURLIN

-— $31713 EXTRUDED ALUMINUM PURLN ﬂ

?5?/,;5/ 740T FOR PRODUCT APPROVAL) ~
LANAL T e ragr
I DETAIL

=

DADE COUNTY USE ENGNEER4FTAMRRS

SMALL MISSILE

—SIIEONE-SEALANT 9
.040 FORMED ALUMINUM ANGLE SPACER i USE DOW CORNING 795 =
.040 FORMED ALUMINUM CLOSURE FLASHING —~7 \\ $35591 EXTRUDED ALUMINUM PRESSURE > -
2} FORKIED! ALUKIHON: SH1.. FERTE /Zb 408545 EXTRUDED ALUMINUM COVER CAP . lEJJ
#10 x 1/2 S/S PAN HD. SM.S. / 1/p=20 X 1 3/4 HWH. SCREW TYPE “F" ~
LOCATED @ 12" 0.C. LOCATED ® 6~ 0..C.

TEK SCREW EMBEDED IN SEALANT
USED FCR INSTALLATION PURPOSES

NOT PART OF PRODUCT APPROVAL
’@ J /10 GABLE P
- L 777/ 9/ DETAl
STEEL mag/ =a GABLE SILL
DEI"A”_ NOTES:

NOT PART OF PRODUCT APPROVAL
( ) v 1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES. 9 Of 14

ACH PRESSURE CAP TO RAFTER
ED HD IN DOW CORNING 795 SILICONE

ST

ATTACH CLOSURE FLASHING TO SILL PLATE

3/16 x 1/2 FOAM TAPE
ALLOW 3/4” INTERRUPT @ EACH RAFTER C.L.




WOOD BLOCKING

(NOT PART OF PRODUCT APPROVAL)
.040 FORMED ALUMINUM CLOSURE FLASHING '

#2 x 1 HWH. TEK SCREW
LOCATED @ 12" 0.C.

ATTACH ANGLE SPACER TO PURLIN

.D40 FORMED ALUMINUM ANGLE SPACER

1/4-20 X 1 3/4 HW.H. SCREW TYPE “F"
LOCATED @ 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOYW CORNING 795 SILICONE
125 FORMED ALUMINUM PRESSURE CAP——/

CONT. 5/16 X 1/2 FOAM TAPE /]

USE DOW CORNING 795

12
\J9/

Il

CONT. EPDM GASKET ~ I

CONT. STRUCTURAL SeAL N
USE DOW CORNING 995 "\
1/4 % 1/2 SETTING BLOCK \

(2) PER BAY 4 LONG LOCATED © 1/4 POINTS Y|
3/16 ALUMINUM GLASS REST \

(2) PER BAY 4 LONG LOCATED © 1/4 POINTS

CONT. BACKER ROD AND SEALANT

ATTACH ALUMINUM ANGLE TO TEST BUCK

CONT. SILICONE SEALANT /] i

Il
Il
Il

T00985 EXTRUDED ALUMINUM

\S/BxSxSxSLONG
STRUCTURAL ALUMINUM ANGLE

1/2-13 X 4 1/2 HEX HD. CAP SCREW
r__\MTH FINISH NUT, LOCKWASHER
AND FLAT WASHERS BOTH SIDES

7

HOBB58 EXTRUDED ALUMINUM RAFTER
1/4-20 x 1 FLAT HD SCREW TYPE “F"
ATTACH RAFTER TO INTERNAL LUG
3/8-16 X 3 1/2 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES

ATTACH INTERNAL LUG TO RAFTER

#14 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURLIN
HOBBS7 EXTRUDED ALUMINUM PURLIN

I
I

l I 1/2-13 X 4 1/2 HEX HD. CAP SCREW
| | WITH FINISH NUT, LOCKWASHER
/ AND FLAT WASHERS BOTH SIDES

29/32"

3/8 x 3 x 3 x B LONG

11
USE DOW CORNING 795 SILICONE ~ fTT

1/8 x 1/4 ALUMINUM POP RIVET
LOCATED © 12" 0.6.—
ATTACH CLOSURE FLASHING TO ANGLE SPACER

S38970 EXTRUDED ALUMINUM
STRUCTURAL SEAL FLANGE

ATTACHED TO PURLIN USING

1/4-20 x 3/4 FLAT HD SCREW TYPE "F"
LOCATED © 6" 0.C.

I I / STRUCTURAL ALUMINUM ANGLE

ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER

[ ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER

WOO0D BLOCKING

(NOT PART OF PRODUCT APPROVAL)

.040 FORMED ALUMINUM CLOSURE FLASHING —|

#2 x 1 HW.H. TEK SCREW
LOCATED @ 12" 0.C.

.040 FORMED ALUMINUM ANGLE SPACER —

$38970 EXTRUDED ALUMINUM
STRUCTURAL SEAL FLANGE
ATTACHED TO PURLIN USING —

ATTACH ANGLE SPACER TO PURLIN
\_1/2 x 4 HEX HD LAG SCREW WITH FLAT WASHER

1/4-20 x 3/4 FLAT HD SCREW TYPE "F"

LOCATED @ 6" 0.C.

1/8 x 1/4 ALUMINUM POP RIVET
LOCATED @ 12" 0.C. —~
ATTACH CLOSURE FLASHING TO ANGLE SPACER

CONT. BACKER ROD AND SEALANT
USE DOW CORNING 795 SILICONE

CONT. STRUCTURAL SEAL /|
USE DOW CORNING 795

CONT. EPDM GASKET

S38970 EXTRUDED ALUMINUM
STRUCTURAL SEAL FLANGE

ATTACHED TO PURLIN USING —

1/4—20 x 3/4 FLAT HD SCREW TYPE “F"

LOCATED @ 6" 0.C.

CONT. BACKER ROD AND SEALANT
USE DOW CORNING 795 SILICONE

(2) PER BAY 4 LON,G

/ 1/2 x 4 HEX HD LAG SCREW WITH FLAT WASHER

@ |/ ATTACH ALUMINUM ANGLE TO TEST BUCK
an

.040 FORMED ALUMINUM ANGLE SPACER
#12 x 1 HW.H. TEK SCREW

LOCATED ® 12" 0.C.
ATTACH ANGLE SPACER TO PURLIN

.040 FORMED ALUMINUM CLOSURE FLASHING —/]

:® SILL
10 DETAIL

WOOD BLOCKING
(NOT PART OF PRODUCT APPROVAL)

NOTES:

INO

21-9
ate QELUC/.

1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES.

Y9%.9(
c

3/16 ALUMINUM GLASS REST

LOCATED © 1/4 POINTS
/4 x 1/2 SETTING BLOCK

(2) PER BAY 4 LONG LOCATED © 1/4 PQINTS

CONT. STRUCTURAL SEAL _/
USE DOW CORNING 995

CONT. EPDM GASKET

T

\

l
I
I

i

Al

11 |
U

© Q>
|

h

|

|

I

4y 1

8 I

Wi I

I

I I
I
I

y
I

\__1/2 x 4 HEX HD LAG SCREW WTH FLAT WASHER

ATTACH ALUMINUM ANGLE TO TEST BUCK

\__3/8x3x3x8LONG

STRUCTURAL ALUMINUM ANGLE

1/2-13 X 4 1/2 HEX HD. CAP SCREW

i WITH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES

ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER

H08857 EXTRUDED ALUMINUM PURLIN
#4 x 1 1/2 HWH. TEK SCREW

ATTACH PURUIN TO RAFTER

(2) PER END (4) PER PURLIN

RIDGE

H08857 EXTRUDED ALUMINUM PURLIN
#4 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURLIN

_/1a\ HORIZONTAL
DETAIL

DATE:

. |B

K.M.|6/10/18 JUPDATED TO 2017 BUILDING CODE
A\ ku]4/28/18 UPDATED TO 2014 BULDING CODE

%,

2%
‘f?‘

© omssen P oornssaz  sales@acurlite.com

) %

<D

light

Acurfite Strwctural SkyBghts Jac,

engineering

acurlite

2/4/10
Berwick, PA 18603

©

DADE COUNTY USE

28

sz
Acceptary

R LY

ASMALL MISSILE

10 of 14




1/4-20 X 1 3/4 H.W.H. SCREW TYPE "F"
LOCATED © 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

S08545 EXTRUDED ALUMINUM COVER CAP

CONT. EPDM GASKET

CONT. STRUCTURAL SEAL
USE DOW CORNING 995

1/4 x 1/2 SETTING BLOCK
(2) PER BAY 4 LONG LOCATED @ 1/4 POINTS

3/16 ALUMINUM GLASS REST
(2) PER BAY 4 LONG LOCATED @ 1/4 POINTS

CONT. SEALANT
USE DOW CORNING 795 SILICONE

1/8 x 1/4 ALUMINUM POP RIVET
LOCATED & 4 0.C.
ATTACH CLOSURE FLASHING TO ANGLE SPACER

S38970 EXTRUDED ALUMINUM
STRUCTURAL SEAL FLANGE

ATTACHED TO PURLIN USING

1/4-20 x 3/4 FLAT HD SCREW TYPE "F”
LOCATED © 6" O.C.

DATE:

$35591 EXTRUDED ALUMINUM PRESSURE CAP
CONT. SILICONE SEALANT
USE DOW CORNING 795

4/28/18 JUPDATED TO 2014 BUILDING CODE

.040 FORMED ALUMINUM ANGLE SPACER—/

A kM]8/10/18 UPDATED T0 2017 BUILDING CODE

I BLM,

040 FORMED ALUMINUM CLOSURE FLASHING WA % #12 x1 HWH, TEK SCREW 4

LOCATED # 12 0.C.
.040 FORMED ALUMINUM ANGLE SPACER ATTACH ANGLE SPACER 7O PURLIN
#12 x 1 HWH, TEK SCREW | / \

LOCATED. @ 12" 0.C. #4 x 1 1/2 HWH. TEK SCREW

ATTACH ANGLE SPACER TO PURLIN ATTACH PURLIN TO RAFTER — N
(2) PER END (4) PER PURLIN 2

H08B857 EXTRUDED ALUMINUM PURLIN ‘ -
s

5/8—11 HEX HD. CAP SCREW N o
x WITH FINISH NUT, LOCKWASHER ©
AND FLAT WASHERS BOTH SIDES N o7
\— ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER 2
L

4 1/2° LONG AT INTERIOR RAFTERS
HOB857 EXTRUDED ALUMINUM PURLIN ! 1/2" AT EACH CORNER P

Ny | 7/8 .040 FORMED ALUMINUM CLOSURE FLASHING —
#14 x 1 1/2 HWH. TEK SCREW 3/8 % 4 x 4 x 6 9/18 LONG /

ETACH PURKINE YD RRFIER STRUCTURAL ALUMINUM ANGLE ="
2 1/32" —=|15/16" |— .
—~

295
%}}v‘

sales@acurlite.com [ o

2

(3

;

bt

Acuriite Serectural Skyfights lnc,

I3,

engineering

\
acurlite

Barwick, PA 18608
@ T0TMLE @ STM952

(2) PER END (4) PER PURLIN (2) PR INTERIOR RAFTER —N\isjt6" |2 11/32" —
T | ¥ (1) AT EACH CORNER \
5/8° DIAMETER ITW RED HEAD ADHESIVE ANCHOR WITH

A7 ACRYLIC ADHESIVE 5 5/8 MINIMUM EMBEDMENT \
CENTERED IN WALL WITH ASTM A193 CRADE B7 T
(SAE 4140) THREADED STEEL ROD WITH FLAT AND LOCKWASHERR
LOCATE AT 2 1/4” MAXIMUM FROM HEEL OF ANGLE \ —

SEAL IN AND AROUND LUG AND FASTENER -
USE DOW CORNING 795 SILICONE

.040 FORMED ALUMINUM SILL PLATE UL s L w b

2/4/10

©

WOOD BLOCKING
(NOT PART OF PRODUCT APPROVAL)

\

il

1\

#0 x 1/2 S/S PAN HD. SM.S. | B T L Ba
LOCATED @ 12 O.C. vb

15 JAMB ATTACH CLOSURE FLASHING TO SILL PLATE LB Yy vew
J1/ DETAIL 3/16 x 1/2 FOAM TAPE L e

. ALLOW 3/4" INTERRUPT © EACH RAFTER C.L. awn B v
QUATER SCALE « . B, %

\

1\

|

B
i}

CONCRETE CURB

(NOT PART OF PRODUCT APPROVAL) —  ———nou | . Doat g

/18 SILL T
0/ DETAIL

HALF SCALE

l"illlp‘lllﬂ“ﬁllp;‘ﬂﬁ‘;ﬂﬂl"3@“imi"ﬂll"‘ﬂl‘J"WWﬂf"
\
\
i o]

i

\
_ Dﬁﬂi

-,\\\

v

i

b/
£S

DADE COUNTY USE

/ISEL

with the Florida

N2 Y-0%0¢%.
ZOQ’ZS’M%—{?

Coc

e
SED

SMALL MISSILE

NOTES:
1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES.




WEEPAGE AT SILL

IF ANY WATER WOULD
HAPPEN TO PENETRATE THE
SILICONE JOINT IT WOULD
BE PICKED UP IN THE

WELL OF THE PURLIN

AND TRANSFERRED TO

THE CONDENSATION

JRACK OF THE RAFTER.

DATE:

\
A K|8/10/10 UPDATED TO 2017 BUILDING CODE
AN KM]4/28/18 LPDATED T0 2014 BUILDING CODE

REV, |BY:

— TO0985 EXTRUDED ALUMINUM INTERNAL LUG % a%,,_ x‘

3/8-16 X 1 1/2 HEX HD. TAP BOLT
WITH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES
ATTACH INTERNAL LUG TO COMPRESSION RING

b

g,

Acerfits Structural Skylighes Inc,

I

°

ERZINEETING

THE WATER THEN RUNS
DOWN THE CONDENSATION
TRACK ONTO THE SILL PLATE.
FROM HERE IT WILL WORK
ITS WAY FORWARD TO THE

acurlite

Berwick, PA 19608

@ oSz @ Sossessy  sales@acurlite.com

1/4—20 x 1 FLAT HD SCREW TYPE “F”
ATTACH RAFTER TO INTERNAL LUG

EDGE OF THE SILL PLATE <
AND DRAIN AT THE 3/4" VOID N
IN THE SPONGE GASKET. ] ~
VOID FILLED WITH 30 PPl WEEP BAFFLE. =g
©

WEEPAGE AT INTERMEDIATE

716\ _COMP. RING
IF ANY WATER WOULD
HAPPEN TO PENETRATE THE \J2/ DETAIL
SILICONE_ JOINT IT WOULD
BE PICKED UP IN THE
WELL OF THE PURLIN
AND TRANSFERRED TO IRODLT REVISEE
THE CONDENSATION as complying with the Florida
TRACK OF THE RAFTER.

DADE COUNTY USE

e Y P A
i ‘v:.»;br/lr/w‘;.?

NAME:

ISMALL MISSILE

THE WATER THEN RUNS
DOWN THE CONDENSATION
TRACK TO THE SILL PLATE.

By
Ziarni DagyE

a¥

SHEET
NOTES:
1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES. 12 of 14




5] ] )
o |
=B 0 o
LY ]
g ol g 8 T
) 3 8 S 21 $
3 v - \ | —{ |—0.125
0 H H = "
| I ; i Bl
8 ) v [— 1240 ——1. sc—{ o 5|8
o Q 2.500 1 I z|z
~ ; g g
— 1.250 —— 1.250 —] z|d
N . 0.7307 2.500 sla
0 — —0.100 Area:
Q Perlmeter: 15.0209 ; ;
=4 @ N Bounding box: X: —1.2403 -—— 1.2597 Area: 1.1875
[=] e ;: ’6%-84832 -—  0.5968 Perimeter: 19.0000 N E E
* Moments of Inertia: : U, Bounding box: X: —=1.2500 —-— 1.
;;04(1)707027 PHISIEAR Y: —-1.2500 —— 1.2500 &|5
Product of inertia: : —0. Moments of inertia: X 1.1195 olo
~— 1.244 —1— 1.256 —| Radii of gyration: X: 0.3309 © * Y: 11195 Sl g
2500 Principal t dY:X oi’_/i“i:ections about centroid Fpoclict of asticn ;Y: ooggggo S $ B
rincipal moments and X-Y di » " ; . 0. SEaim
< sons 4 I: 0.0800 along [[1.0000 —0‘008]0] Rodi of gration: & 0:9709 33ls
] Area; : J:_0,4178 along [0.0080 1.0000 Principal moments and X—Y directions about centroid: :
i Perimeter: 31.2602 Welght per lineal foot:0.86 Ibs. rinee I: 1.1195 dlong [0.7071 —0.7071] sl
< Bounding box: X —1.2438 —— 1.2562 Aluminum Alloy: 6063—T6 J: 11195 along [0.7071 0.7071] y
o128 o g EATOEO == LOgD Weight per lineal foot:1.39 Ibs. %, 2 o £
; Moments of inertio:  X: 3426 S31713 PURLIN Alurninum Alloy: 6063—T6 g;g ’Sx p
Product of inertia: §Y21;2604152 S ﬁ.ﬁf&, Té
o il L1 S
Radil of gyration: X 14204 HO1071 TUBE T ¢
H H Principal moments and X—Y directions about centroid: 2
: I: 1.4489 along [0.0082 —1.0000] FULL SCALE L _gi &
J: 3.4267 dlong [1.0000 0.0082] Jud .20 ﬁ
Weight per lineal foot:1.99 Ibs. 2175 , . g ™ 2
—1.250 —t~— 1.250 — Aluminum Alloy: 6063—T6 * [ H ;o g E
2500 /™ H08857 PURLIN T Htlade
=] D . <
Area: 4.0777 U FULL SCALE O = i B
Sl T 2500 1.2500 < ;"i bf
Bounding box: S B -— L o
2 Y: —41528 - 38472 8— |—033 el
Moments of inertic: X: 31.3863 o
Y: 3.5664 o
Product of inertia:  XY: 0.0000 e
Radii of gyration: X: 27743 g
Y: 0.9352 «
Principal moments and X-Y directions about centroid:
I: 3.5664 along [0.0000 1.0000]
J: 31.3863 along [~1.0000 0,0000] Area: 1.9456 ©
Welght per lineal foot:4.77 Ibs. germé?tenb ;(?'319163524 —— 1.0626
Aluminum Alloy: 6063-T6 ounding box: ¥ 15635 —— 0.9365
7\ HO8858 RAFTER Moments of inertia: § ;g;gl
\ / FULL SCALE Product of Inertie; ~ XY: —0.0001
Radii of gyration: X: 0.7427
- 2321 Y: 0.8244
8 J— Principal moments and X-Y directions_about centroid:
S | 2.500 ' e ) I: 1.0731 along [1.0000 —0.0004]
( i = | | J: 1.3224 dlong [0.0004 1.0000]
T i I & Weight per lineal foot:2.335 Ibs.
i{ b 2 Aluminum Alloy: 6063-T6
i3 " S
g d Y
Area: 0.2110 Arec: 0.2955 TO0985 INTERNAL LUG ;["
Perimeter: 7.5289 Perimeter: 6.9688 _ <
Bounding box: X —1.2500 --— 1.2500 Bounding box: X ~1.1634 —— 1,1626 FULL SCALE ) L o
Y: —0.4392 —-— 0.1228 Y: —-0.1489 —— 0.2190 o Lul
Moments of inertia: X: 0.0049 Moments of inertia: X: 0.0012 A o
)\::Y 0.1783 Y: 0.1486 w) <L
Product of inertia: : 0.0000 Product of inertia:  XY: 0.0000 )
Radii of gyration: X: 01527 Radii of gyration: X: 0.0634 DADE COUNTY USE s E
Y: 0.9191 Y: 0.7092 L
Principal moments ond X-Y directions about centrold: Principal moments and X-Y directions about centroid: PRODUCT REVISED 5 j . O
I: 0.0049 along [1.0000 0.0000] l: 0.0012 dlong [1.0000 0.0000] as complying with the Florida F < E
J: 0.1783 along [0.0000 1.0000] J: 01486 dlong [0.0000 1.0000] T Cad i : =1
melght perAlll'neal foot: 0.25 Ibs. Weight per lineal foot: 0.354 Ibs. \, = 2 ({_0 'S g% 0/ ; E : =
uminum Alloy: 6063—T6 Aluminum Alloy: 6063—T6 Expiration Date O {/:,f/x—o 2‘7
508545 COVER GAP 535591 PRESSURE CAP H*”/é ) Mt~
FULL SCALE FULL SCALE Miami Tigfle Froduct Control
NOTES:
1. SEE SHEET & OF 14 FOR GLASS SIZES AND TYPES. ] 3 Of ] 4




oy
<
&

Ny

=

Description: Structural Aluminum Angle :
Size:3/8 x 4 x 4 x,
Material: Aluminum (Alloy 8061—T6) T
™)
©

| p
Description: Gluss Rest
Size: 3/16 Thick
Material: Aluminum (Alloy 6061-T6)

Description: Gusset Plate
Size:1/4 Thick
Material: Aluminum (Alloy 6061—T6)

Description: Formed Cover Cap
Size:.040 Thick
Material: Aluminum (Alloy 3003)

15/16"

Description: Formed Pressure Cap
Size:.125 Thick

Déscriptlon: Structural Aluminum Angle

Size:3/8 x 3 x 3
Material: Aluminum (Alloy 6061—T6)

Description: Pop Rivet
Size:1/8 x 1/4
Material: Aluminum

)

Description: Pan Head Sheet Metal Screw (Pan Hd. S.M.S.)
Size: 10 x 1/2
Material: Stainless Steel

Description: Hex Washer Head Tek Screw (H.W.H. Tek Screw)
Size: #12 x 1
Material: SAE Grade 2 Steel

Description: Flat Head Screw Type "F" (F.H.S. Type "F")
Size:1/4—20 x Varles
Material: SAE Grade 2 Steel

Description: Hex Washer Head Tek Screw (H.W.H. Tek Screw)
Size: 14 x 1 1/2
Material: SAE Grade 2 Steel

Description: Hex Washer Head Screw Type "F” (H.W.H. Screw Type "F")
Size:1/4-20 x 1 3/4
Material: SAE Grade 2 Steel

L TR I RS S

e — -
SK/\/«") k"\/]

&
>

4"

Manufacturer: Biltrite
Description: Setting Block
Material: Neoprene

Manufacturer; Eibex
Description: Gasket
Material: EPOM Rubber

» N

- TJ:

T 374 _’W_ —

P *

e

v
v, N

— 113/ -
sy
T o LJ

Description: Formed Pressure Cop
Size:,125 Thick

DATE:

2 u6/10/19 UPDATED TO 2017 BULDING CODE
A KM]4/28/18 JUPDATED TO 2014 BULDING CODE

REV, |BY

Fy

£
g
g
5
5
3
.
~
Material: Aluminum (Alloy 3003) Materlal: Steel ASTM A36 Q 3 !E b
= .20 g
oyt ™ £
. amn —i i)k
8' [ H .E ;ge
” Ii p W o
I Qi
0 Description: Hex Head Cap Screw with Finish Nut, Flat Washers and Lockwasher ;oigi
N Size:1/2-13 x 4 1/2 (o IR £
[ Description: Hex Head Cap Screw with Finish Nut, Flat Washers and Lockwasher [ Material: SAE Grade 2 Steel )
I Size:3/8-16 x 4 1/2
Material: ASTM Grade 2 Steel n ] =
|| ”  S— ‘{\
f 1 i A T J ™~
[5 %: ©
fini} x
= Description: Hex Head Tap Bolt with Flat Washer and Lockwasher ” “ ’
Size:1/2-13 x 2 Description: Hex Head Cap Screw with Finish Nut, Flat Washers and Lockwasty )
= Material: ASTM A449 Grade 5 Il Size:5/8—11 x 4 1/2 B :
£ § I Materlal: ASTM A307 Steel ; -
=
[
T )
A N
== = NN L] E
” ” Description: Hex Head Tap Bolt with Finish Nut, Flat Washers and Lockwasher Pl I W | o
Size:1/2-13 x 1 1/2 ~ \ AN =2
L 1 Material: ASTM Grade 2 Steel \&‘ E A z
%)
%., DADE COUNTY USE ENGINEER ,STAMP | 4 25
N\SLARMALIT] \ L L.
i -
ODI ! viee! orida ﬁ‘l:‘:‘kﬁc g % -. —1 R O
inlving with the B 10maa _“.cg é‘ U : < : 1
Duldinz Coé » y_g ¢ 9§.0 PRODUCT REVISED HBE= B
ce W tb— l/wb 55 € ing with the Florida gV gL g QA
Expifation Date O 4/ (£ / g T17.0] 450 003008 et o
y : et 5 <0
o/ - &
) ‘1( Control e "8' %24
)7_7‘ W STATE OF
PAidsni Dagaiddiic: Cantol

NOTES:
1. SEE SHEET 6 OF 14 FOR GLASS SIZES AND TYPES.




